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(7:) (5m) (5m) (5m) (5m) (5m) (32:)
1 [aesay 3 2 3 3 4 2 17] 53.1%
2 |BeEY Y 4 2 3 3 3 2 171 53.1%
3 [maevay 5 3 4 3 3 4 22| 68.8%
4 |MAEEETE 4 3 4 3 4 3 21| 65.6%
b |MHAFEETE 5 3 3 3 3 2 19] 59.4%
6 |HEEEHE 6 4 4 4 4 4 26| 81.3%
7 |HEEEEHE 4 2 3 2 3 2 16] 50.0%
NI 4.4 2.7 3.4 3.0 3.4 2.7 19.7 61.6%

UEMEXEE]

(7r) (5) (54) (54) (228)
8 |EHElExEE 4 3 3 3 13] 59.1%
9 |EHXE 4 2 3 3 12| 54.5%
10 |22+ —% 2 2 2 3 9] 40.9%
Nlez+r—%g 3 2 3 2 10] 45.5%
12 |2+ —% 4 3 3 3 13] 59.1%
Y15 3.4 2.4 2.8 2.8 114] 51.8%




